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#include <stdio.h>
void main(void)

char c;
printf("—XF A AL TLZELY");
scanf("%c", &c);

printf(" A SN T=XF:%c¥n", c);




RIj [0

. fHE

BLI-E B,
£ L NEIELNS A, B3 TH(AE

4 (=

B HrEEF(+,-,%,/,%, +=,-=,%=,/=,%=)

Y BE J+ IR ICREL TIEER

RECIZDOULNTERBAL TLE,

EEOTH. RNITT CIZHEZ (T H S

FHEDTRR—=DRERTIELLY,



BirEgE X

B T + +a HAEY BRI -

B TR - -a ad) fF ?aﬁzu_%mo
10 = -10A4T=L M,

AR b at+ |a=a+1¢&RC,

BB Y a-- a=za-1¢&RC,

B#MAA a=b allbZ{A

F a+=b a=a+b
= a-=b a=a-b
Fa a*=b a=a*b
-] a/=b la=a/b

KUY a%=b a=a%b




=A\ I—

R _::ﬁiiﬁ?(!/ &&1 ‘ |)

hEENERENTES-ITT D ES,

E(1)eHm0)D 2 BETZHAETHETRY

x | v | Ix(FBE) x&&y x| |y
GREfE. 7o) | GeEf. b LD

O O 1 0 0)

0 1 1 0 1

110 ) 0 1

1|1 0 1 1




HEER F(<>,==, <=,>=,1=)

SiEEFERILL RNE W -00E

KIE R DBIET,

" ELTIELLND AN ==

f2m, —DFIF33
=TREIFEERA

LN ELVSERTHELNVEWNWEEINT —DE

RAHAFDIZ! !

[ZES>TLEID T, “FL




BREE AR

abkl D H/hIW

afbl D HREW

alblIZE LW

alblL T

a’bLl L

al b REE




o U5z AL ER () (i)

REETOERTOFZFIZ.IFIET“HL~TEL
X7, elsel&“FNLSN ZERLET,

OfEX

if (1) {21;} /B, K1HIE0EL XLIEE1ZEITLY,
elseif (X2 ){w#E2;} //H1H0T. X2MIE0%LIK
MIE2Z1TLN,

else { LIE3; } /] EDRVEBHLITHNZITNIINIES
172




FH. FFOENEDODNTELERSHIZAOL.

__TE NIEDTAHAANLZTALGERENTE
L7=,

FCTESODRIEEEF !

if (1) { 0E¥1;} //BLHA1==true’Z 1117175

elseif (X2 ) { 2 ; } //zX2==true’Z S LE 211175

else { JLEE3; } /| CNFETORZm=/ELVEL
MIB3ZE1TS

AERXERITLOMNMYIZKWEESDT
RR—UDNYTILRTLIEELY,




O7ny353 £
STEIYYTINAMhE>INEERRT H

#include <stdio.h>
void main(void)

{
int num; printf(“B#% A DL TESLY:?);

scanf("%d", &num);
if (num % 5 == 0) {
printf("5TE|YENFE T ¥n", num);
} else {
printf("5TE|YENFEE A¥n", num);
}

}
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switch ( #F{f=C) {
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switch (=X ) {
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#include <stdio.h>

void main(void)

{
int num;  printf("EB & A AL TS "),

scanf("%d", &num);
switch (num % 3) {

case 0: printf("3D{E# T ¥n"); break;

case 1: printf("1RY T9¥n"); break;

default: printf("25FRY...f2EEBLVET ¥n"); break;
}
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int a0 = 1; int a[3];
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inta2=7; inta[l] =9;
inta[2] =7;
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#include <stdio.h>
void main(void)

{
char s[128];

printf(" X F 5 Dinput:");
scanf(“%s”, s); [/ XFIIDEFIL&MNFE
printf("input X FF¥n%s¥n", s);
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#tinclude <stdio.h>

void main(void)

{
int array_Int[5];
array_Int[2] = 10;
printf("%d¥n", array_Int[2]);

}
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#include <stdio.h>

void main(void) {
Int point;
printf("0-1000 R &z A AL TSN,
scanf("%d", &point);

if (point >= 0 && point <= 100) {
if (point >=90) {
printf("A+¥n");
} else if (point >= 80) {
printf("A¥n");
} else if (point >= 70) {
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printf("B¥n");
} else if (point >= 60) {
printf("C¥n");
} else {
printf("Z@ 5+ ¥n");
}
} else {
printf(" == =7\yw¥n");
}




